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Ay » ¥ 4 (1, k) ig$% (page. 335)

iR -k g d R serE Y'H — y=[(1)]
(1), B kxyph= |[ ﬂ L’ x=[(1)] T/vxﬂ

'(;y)/}/’* e ¥ 4 (1,k) 18 e _yﬁdv-[k ‘1’]

=(3). pt st et ot 1]
0, )—— |}_-(""T 0,1) \

1% y ARLAF k5B 5 (shear) m Ji b HH [l 0

T(x,y)=(x,y+kx) 75 T\L{i“‘“ _k]_
(k>0) (k<0)
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(3R 5 30° )2 18 et
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i )4 ¢ 3% P 4% 30° chik(page. 331)

» % x=(1, D7 REES ¢ o P56 7/6 R (R 5307)

e gs_|€OS(0) —sin(0)]_[cos(30) —sin(30)
y [T]*%"zg{fi_[sin(e) cos(0) | |sin(30) cos(30)

Z=_—sin(9)
3/2 —1/2] -cos(a\)e‘ ¢ “[stnt6)
1/2 /32

V3/2 —1/2]H=[\/§/2—1/2]
1/2 3721 |1/2 ++/3/2

3% T 45 P 5 =[



import numpy as np PY thOn %g_ ;\} E%

= np. radians(30)

T1 = np. array(]
[np. cos(rad), -np.sin(rad)],
[np. sin(rad), np. cos(rad) ]

X = ];. array (| EEE $$ 1?:.7. Elrl l‘% =
H} | 19.3660254 |
D |1.3660254] ]

intC & 15 hig=\n’, y)
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https://www. youtube. com/watch?v=XkY2DOUCWMU

10 5 OO “Composition” of a rotation and 5 shoal
(1). £ 3% pF 435390 2 countercl
= wwes=[][ ] =[] 7]
(2). £ 4§ 4 $ieshear
be-[Jli-[

L RaE

Composition of rotation and shear

o allt olbl=l Glb)

ear Rotation composition

(



https://www.youtube.com/watch?v=XkY2DOUCWMU

import numpy as np PY thOn %}_ ;\: E%

d = np. radians(90)
1 = np. array(|[
[np. cos(rad), —np. sin(rad) ],
[np. sin(rad), np. cos(rad) ]
D
T2 = np. array([
5 (I
[0, 1]

D R = J4E R A (R H R =

x = np. array([

121, [3] [[-1.]
D [ 2.]]

y=T2@Tl@x
print(" % =x & & ¥k {8 ehif=\n", y)
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np A ”
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mxpht 2R (y=0)
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Python #23;\7#5

port numpy as np
T1 = np. array([
[1,0],

[0, 0]

np. array(|
[-3], [1]

D
y =Tl @ x

print(C ¥x$hend 2 FEF=\n", y)
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3 ,5510 : %’i\ﬁfg mfg\(page 379)
»rydhs P o4 L (VA B)

(1/VZ.0,1/i2) 1 4 _ERSMNEIRRAIHESE - W52t 45

HRO1) Y(0,1,0)

> X(1,0,0) mmmp

X(1/+2,0,- 1/+/2)

' cos(45) 0 siﬁ(45)' 1/N2 0 1/V2]
A EREL[T ]=| 0o 1 o0 0 1 0
—sin(45) 0 cos(45)| |-1/4/2 0 1/V/2

1/NVZ 0 1/3v2][-2 0 0 7017 0°
¥pstenif=l 0 1 0 [1H 1 ]= 1 1
l—_1/v2 o 12021 2/v2+2/v2] a2 o9




import numpy as np PY thon %E_ ;\1 E%

ad = np. radians(45)
T1 = np. array(|

np. cos(rad), 0, np. sin(rad) ],
: 0’ ]- 9 0 ] 9
—np. sin(rad), 0, np.cos(rad)]
1 Dy 2.0 A S O e 1 4 =
= np. array(|[ rro. ]
-2, [11,[2) [ !
D [2.82842712]]
y =Tl @ x

print(C’ Mydhs ¢ & 345" /1S hif=\n", y)
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2 ool = [y cos 22

y1 cos(@) —sin(8) 0][x1
y2| = lsMO} le}
1 0 0 1111

yi| [cos® -sinf O] x
Y2 sin@ cosf@ O] x
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FI=D% 3%, P 5
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(wy, wy)

Wy = X cosH — ysinf
wy = xsinf + ycosh

|

=TI —> iR PR H k-
H-x@grs
7&&7.1.3&%& (7] 527 et

A)

cosd  —sinf

sin @

cos

|
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1
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el ELE 3 e 8
A—I(W — |
) = Tx-1 (T4 (X)) =X \

Tp-1 = 1 HRETED
A
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Fol9: & 71
7. > FEE3FEai:  (page. 338)

W =2.}’C1 + X7

wy = 3x1 +4x,

K 7T (n, m)



%’éf,’vljg . T ha

wi] 2 177x Wy = 2x1 + X2
o)l alle) =3 44,
P 5 R SB[ T ] (page. 338)
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#5110 ¢ R F& A&+ £ 2 f(page. 346)

e P 2ZARK S={v, Vv, vg} o E¥
vi=(1,1,1), v»=(,1,0), wv3=(1,0,0)

=L TR > R LR

I'(vi) =(1,0), T(v2) =(2,-1), T(v3) =(4,3)

(1). & ](Xp X9, X3) LS T AR

-(2). 3% 72 -3, 5) 2%




#5110 ¢ R F& A&+ £ 2 f(page. 346)

Dﬁl > e & ®_3D, %?J > & EI2D 0 #rdie BT 3x24E H
»(1). & ](Xp X9, X3) 2_§& % o5\
»(2).3" % (2, -3, 5) 2 %%

c1[x1] x1
g’ ol [x2| = 11 [*2]-1()
g x3. X3

--e+f;0 vi=(,1,1), vw=(,1,0), v3=(1,0,0)
I'(vi) =(1,0), T(v2) =2, =1), T(v3) =(4,3)

»a=4
»d=3 => b=-2, e==4, c=-1, f=1



#6110 - £ A &= £ 2 f(page. 346)
~ % £ 234, ﬁl o £ B2D 0 oL ib R Sx24E 4%

'd). R x, X Xx3) 2@

»(2).3% N2, -3, 5) 2 %%

x1 x1
F ; x2| = [T7]x2|=T(v)
& x3. X3,
, b=-2, C——l d=3, e==4, f=1

[ 4—2—1
def3—4

(2).3%% N2, -3, 5) [3 :4 11] y =[293]
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